
1/4"THK. STEEL FASTENING PLATE, 
BOTH SIDES, MANF. BY SIMPSON OR 
SIM.; BLACK GLOSS PAINT FIN., TYP.

1/4"THK. 5"x5" STL. ANGLE LAG BOLTED 
TO HEAVY TIMBER BEAMS BEY.

8"x8" HEAVY TIMBER COLUMN 
@ 12'-0" O.C.

3/8"DIA. GALV. LAG BOLTS, TYP.

2"x6" WOOD BRACE FROM HEAVY 
TIMBER FRAME TO LVL ROOF JOISTS, 
SPECIES TO MATCH HEAVY TIMBER 
FRAME

3/4"DIA. STEEL TRUSS ROD BOLTED 
FROM HEAVY TIMBER COLUMNS TO 
LVL ROOF JOIST BEY. @ 12'-0" O.C.

CL

C L

1/4"THK. STEEL FASTENING PLATE, 
BOTH SIDES, MANF. BY SIMPSON OR 
SIM.; BLACK GLOSS PAINT FIN., TYP.

3/8"DIA. GALV. LAG BOLTS, TYP.

8"x8" HEAVY TIMBER BEAMS ACROSS 
TOP OF BEAM

2"x6" BRACE FROM HEAVY TIMBER 
FRAME TO ROOF JOISTS, WOOD 
SPECIES TO MATCH HEAVY TIMBER 
FRAME

7.5"x7.5" HEAVY TIMBER STEEL COLUMN 
BASE MANF. BY CONNEXT OR SIM.

CONCRETE SCREWS MANF. BY GRK 
CALIBURN OR SIM.

CONCRETE FINISH FLOOR

IF NEEDED- 1"THK. BLACK HIGH DENSITY 
PLASTIC BASE SPACER MANF. BY 
CONNEXT OR SIM.

8"x8" HEAVY TIMBER COLUMN 
@ 12'-0" O.C.

1/4"THK. STEEL FASTENING PLATE, 
BOTH SIDES, MANF. BY SIMPSON OR 
SIM.; BLACK GLOSS PAINT FIN., TYP.

1/4"THK. 5"x5" STL. ANGLE LAG BOLTED 
TO HEAVY TIMBER BEAMS BEY.

8"x8" HEAVY TIMBR COLUMN 
@ 12'-0" O.C.

3/8"DIA. GALV. LAG BOLTS, TYP.

2X8 WOOD FRAMING ROUGH OPENING 
TYP. AT ALL DOOR AND WINDOW 
OPENINGS

WINDOW AND DOOR UNITS, TYP.

STANDING SEAM METAL SIDING ON 
ZIP SYSTEM RIGID INSULATION, ALL 
SEAMS TAPED AND SEALED

3/8" x 7 1/2' STEEL PLATE FULL HEIGHT 
EACH SIDE OF 8"X8" HEAVY TIMBER 
COLUMN, OFF-CENTER THROUGH BOLTED 
AT EACH SIDE VERTICALLY AT 24"O.C.

CL

PR
O

JE
C

T:

P
. 

90
8.

 2
08

. 
89

83
  

E
. 

be
n@

br
oa

dl
oo

m
cr

ea
ti

ve
.c

om
29

6 
1 2 

O
LD

 Y
O

R
K

 R
D

, 
B

R
ID

G
E

W
A

T
E

R
, 

N
J 

08
80

7
B

E
N

JA
M

IN
 W

A
L

M
E

R
  

- 
 N

.Y
. 

L
IC

E
N

S
E

 #
0

3
1

5
8

5

AR
C

H
IT

EC
T:

D
E

M
IA

N
 R

E
P

U
C

C
I

L
O

T
 3

, 
6

2
5

 C
L

U
M

 H
IL

L
 R

O
A

D
E

L
K

A
 P

A
R

K
, 

N
Y

  
1

2
4

2
7

B
L

O
C

K
: 

1
8

2
.0

0
-3

-3
3

 L
O

T
: 

3

R
E

P
U

C
C

I 
R

E
S

ID
E

N
C

E

DWG No:

A13
13 OF XX

D
R

A
W

N
 B

Y
: 

B
W

  
C

H
E

C
K

E
D

 B
Y

: 
B

W

B
R

O
A

D
L

O
O

M
 A

R
C

H
IT

E
C

T
U

R
E

 D
P

C

BUILDING SECTION & DETAILS

D
AT

E:
IS

SU
E:

D
R

AW
IN

G
:

N
O

TE
S:

BU
IL

D
IN

G
 S

EC
TI

O
N

10
.0

4.
20

21
PE

R
M

IT
 S

U
BM

IS
SI

O
N

O
W

N
E

R
 M

A
IL

IN
G

 A
D

D
R

E
S

S
:

D
E

M
IA

N
 R

E
P

U
C

C
I

2
8

5
 R

IV
E

R
S

ID
E

 D
R

 #
2

F
N

E
W

 Y
O

R
K

, 
N

Y
  

1
0

0
2

5

2/A13

3/A13

5/A13

4/A13

6/A13

CONT. 2X6 SIDE PLATE BOLTED TO 
CHIMNEY; CONT. ADHESIVE AND 
SEALANT
10" LAG BOLTS & WASHER @ 18"O.C. 
VERTICAL, STAGGERED WITH 
MASONRY BOLTS

6" MASONRY LAG BOLTS @ 18"O.C. 
VERTICAL

2"THICK RIGID INSULATION CONT 
VERTICAL TO TOP OF CHIMNEY; SEE 
CHIMNEY DTLS.

EXT. FINISH BRICK, SPECS AND 
COLOR TBD.; SEE CHIMNEY DTLS.

FIRE BRICK, SEE CHIMNEY DTLS.

8"THK. CONCRETE WALL, #4 VERTICAL 

4"THK. CONT. RIGID POLYISO 
INSULATION

7/A13 8/A13

CONT. 8"X8" HEAVY TIMBER 
COLUMN

CONT. 8"X8" HEAVY TIMBER 
COLUMN

10" LAG BOLTS & WASHER @ 18"O.C. 
VERTICAL, STAGGERED WITH 
MASONRY BOLTS

6" MASONRY LAG BOLTS @ 18"O.C. 
VERTICAL

CONT. 2X6 SIDE PLATE & BLOCKING 
BOLTED TO CONC WALL; CONT. 
ADHESIVE AND SEALANT

INTERIOR SECTION
1 SCALE: 1/2" = 1' - 0"

7/A13

HEAVY TIMBER PLAN DTL.
6 SCALE: 1 1/2" = 1' - 0"

HEAVY TIMBER PLAN DTL.
7 SCALE: 1 1/2" = 1' - 0"

HEAVY TIMBER PLAN DTL.
8 SCALE: 1 1/2" = 1' - 0"

TIMBER CONNECTION DTL.
2 SCALE: 1 1/2" = 1' - 0"

TIMBER CONNECTION DTL.
3 SCALE: 1 1/2" = 1' - 0"

TIMBER SECTION DTL.
4 SCALE: 1 1/2" = 1' - 0"

TIMBER CONNECTION DTL.
5 SCALE: 1 1/2" = 1' - 0"

12
.0

2.
20

21
PE

R
M

IT
 S

U
BM

IS
SI

O
N

Text
 5'-0"

Text
 3'-4"

Text
 5'-0"

Text
 5'-0"

Text
 3'-4"

Text
 3'-4"

Text
 5'-0"

Text
 5'-0"

Text
 5'-0"

Text
 3'-4"

Text
 3'-4"

Text
 3'-4"

Text
 5'-0"

Text
 5'-0"

Text
 5'-0"

Text
 5'-0"

Text
 5'-0"

Text
 5'-4"

Text
 1'-8"

Text
 3"

Text
 1'-0"

Text
 1'-4"

Text
 3'-8"

Text
 3"

Text
 1'-0"


